### COUNTY OF MONMOUTH STATE OF NEW JERSEY

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP) F-57-2022

#### **INCLUDES:**

NOTICE TO BIDDERS
GENERAL CONDITIONS
EEO LANGUAGE
EEO QUESTIONNAIRE
BUSINESS REGISTRATION REQUIREMENTS
STATEMENT OF OWNERSHIP
IRAN DISCLOSURE FORM
AMERICANS WITH DISABILITIES ACT

NON-COLLUSION AFFIDAVIT
ADDENDUM ACKNOWLEDGEMENT
BID DOCUMENT CHECKLIST
REQUEST FOR BID
ADDITIONAL SPECIFICATIONS (if any)
SIGNATURE PAGE
ANTI-DISCRIMINATION IN EMPLOYMENT

AUTHORIZED: May 13, 2021

ADVERTISED: June 16, 2022

THOMAS A. ARNONE
DIRECTOR OF THE BOARD OF COUNTY COMMISSIONERS

TAMARA BROWN
CLERK OF THE BOARD

TERI O'CONNOR COUNTY ADMINISTRATOR

HELEN P. FIORE
DIRECTOR OF PURCHASING

NAME OF BIDDER: Garden State Highway Products, Inc	
ADDRESS: 301 Riverside Drive	
Millville NJ 08332	
Phone: 856-692-7572 / 1-800-338-5685 Fax: 856-692-2929	

PLEASE INCLUDE ONE (1) UNBOUND ORIGINAL BID WITH SIGNATURE(S) AND TWO COPIES

RFB must be received no later than:

#### **REQUEST FOR BID**

---- This Is Not An Order -----



June 29, 2022 10:30AM

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Jennifer Gagnon

732-431-7370 x7372

For E	Delivery to:	Division of Engineering/Traffic Safety Unit, Pul 240B Center Street, Building #2, Freehold, NJ			
Deliv	ery Date:	90 DAYS AFTER AWARD OF CONT	RACT		
ITEM#	#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
1	POLYETHYL ORANGE AN SHALL MEET STAMPED W THE BASE. F	: PLASTICADE 1: 456-HD-T4 NONE	20 EACH	85.93	1,718.60
2	ORANGE, MOWITH HIGH I MINIUM 3" BI WITH 6" WHI 6" BAND. SH STAMPED W PRODUCT#	X-POSE SAFETY  WIDE BODY OTC28-64  NONE- SEE ATTACHED SPEC SHEET	5,000 EACH	17.82	89,100.00
3	LEGS WITH 2 CROSSBAR WHITE SHEE OF CROSSB PLASTICADE	H: PLASTICADE WZBA-AF-I-BEAM-HIP-6-KIT NONF	10 EACH	116.97	1,169.70

# County of Monmouth REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Jennifer Gagnon

732-431-7370 x7372

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
4	STOP AND SLOW PADDLES, 18" X 18", 72" PVC ONE- PIECE HANDLE, 6" LETTERS WITH DIAMOND GRADE SHEETING, PRODUCT # STSL-18DG BRAND: GSHP-3MDG OR APPROVED EQUIVALENT Packaging: MFG/Brand: GSHP GSHP-3MDG	50 EACH	55.62	2,781.00
	Product No:  Some Suppose Supp	•		
5	WHITE REFLECTIVE PANELS, 3" WIDE X 72" LONG FOR USE WITH U-CHANNEL POSTS, INCLUDING 5 TAMPER RESISTANT 1" SQUARE HEAD SCREWS AND DRIVER BIT, DG3 SHEETING,PRODUCT # BSX-372, BRAND: BRITESIDE OR APPROVED EQUIVALENT Packaging:	30 EACH	21.32	639.60
	MFG/Brand: LORDON Product No: BRITESIDE BSX-372-DG3 Variances, if any: NONE			
6	WHITE TUFF POST 36" WITH WHITE REFLECTIVE BANDS, ROUND TOP, 3" O.D. PRODUCT # TUFFTP36 BRAND: IMPACT RECOVERY SYSTEMS OR EQUVALENT Packaging: MFG/Brand: Product No: Variances, if any:  NONE	20 EACH	62.77	1,255.40
7	YELLOW TUFF POST 36" WITH YELLOW REFLECTIVE BANDS, ROUND TOP, 3" O.D. PRODUCT # TUFFTP36 BRAND: IMPACT RECOVERY SYSTEMS OR EQUVALENT Packaging: MFG/Brand: Product No:  MF3-HY-HY-Q  MT3-HY-HY-Q	25 EACH	62.77	1,569.25
	Variances, if any:			_
8	PORTABLE RUBBER ONE BASE PRODUCT # 103QR BRAND: IMPACT RECOVERY SYSTEMS OR EQUIVALENT	45 EACH	51.25	2,306.25
	Packaging: 1 PER BOX  MFG/Brand: IMPACT RECOVERY  Product No: BS-PIQ  Variances, if any: NONE			

#### **REQUEST FOR BID**

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Jennifer Gagnon

732-431-7370 x7372

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
9	FLUORESCENT ORANGE POLYETHYLENE CHANNELIZER, 42" WITH TWO 6" WHITE DIAMOND GRADE BANDS (DOES NOT INCLUDE RUBBER BASE) BRAND: NAVIGATOR OR APPROVED EQUIVALENT  Packaging: MFG/Brand: Product No: Variances, if any:  NONE	30 EACH	25.76	772.80
10	FLUORESCENT YELLOW GREEN (FYG) REFLECTIVE PANELS, 3" WIDE X 72" LONG FOR USE WITH U-CHANNEL POSTS, INCLUDING 5 TAMPER RESISTANT 1" SQUARE HEAD SCREWS AND DRIVER BIT, DG3 SHEETING PRODUCT # BSX-372 BRAND: BRITESIDE OR APPROVED EQUIVALENT Packaging:  MFG/Brand: Product No:  MRG/Brand: Product No:  MRG/Brand: NONE	90 EACH	21.32	1,918.80
11	"FLAGGER (SYMBOL) ", 48" X 48" (W20-7A)  FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging:  MFG/Brand: Product No: Variances, if any:  NONE	20 EACH	88.52	1,770.40
12	"ONE LANE ROAD AHEAD", 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: Variances, if any:  NONE	5 EACH	88.52	442.60
13	" LEFT LANE CLOSED ", 48" X 48" (WORDING) FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT	5 EACH	88.52	442.60

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-57-2022

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Jennifer Gagnon 732-431-7370 x7372

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 1 PER BOX MFG/Brand: EASTERN METAL Product No: SUPER BRIGHT Variances, if any: NONE	•		
14	" RIGHT LANE CLOSED", 48" X 48" (WORDING) FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: 1 PER BOX MFG/Brand: EASTERN METAL Product No: Variances, if any: NONE	5 EACH	88.52	442.60
15	"BE PREPARED TO STOP" 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERLGASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: 1 PER BOX MFG/Brand: EASTERN METAL Product No: SUPER BRIGHT Variances, if any: NONE	10 EACH	88.52	885.20
16	"ROAD MAY BE FLOODED" 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK. PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: Variances, if any:  NONE	5 EACH	88.52	442.60
17	LANE ENDS (W4-2R), 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: MFG/Brand: EASTERN METAL Product No: Variances, if any: NONE	5 EACH	88.52	442.60

#### **REQUEST FOR BID**

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Jennifer Gagnon

732-431-7370 x7372

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
18	LANE ENDS (W4-2L), 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: SUPER BRIGHT Variances, if any: NONE	5 EACH	88.52	442.60
19	ROAD CLOSED (W20-3) 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERLGASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: 1 PER BOX MFG/Brand: EASTERN METAL Product No: SUPER BRIGHT Variances, if any: NONE	5 EACH	88.52	442.60
20	"ROAD CLOSED AHEAD" (W20-1) 48" X 48"  FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERLGASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: 1 PER BOX MFG/Brand: EASTERN METAL Product No: SUPER BRIGHT Variances, if any: NONE	5 EACH	88.52	442.60
21	"ROAD CLOSED LOCAL TRAFFIC ONLY" 48" X 48"  FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERLGASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT 1 PER BOX  MFG/Brand: Product No: SUPER BRIGHT Variances, if any:  NONE	10 EACH	88.52	885.20
22	"ROAD WORK AHEAD " (W20-1) 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT	20 EACH	88.52	1,770.40

#### **REQUEST FOR BID**

----- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Jennifer Gagnon

732-431-7370 x7372

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 1 PER BOX MFG/Brand: EASTERN METAL Product No: SUPER BRIGHT Variances, if any: NONE			
23	"ROAD CLOSED 500 FT" (W20-3) 48" X 48"  FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS WITH 48" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: 1 PER BOX MFG/Brand: EASTERN METAL Product No: SUPER BRIGHT Variances, if any: NONE	5 EACH	88.52	442.60
24	"ROAD CLOSED 1000 FT" (W20-3) 48" X 48"  FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS WITH 48" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging:  1 PER BOX  MFG/Brand: EASTERN METAL Product No: Variances, if any: NONE	5 EACH	88.52	442.60
25	"ROAD CLOSED 1500 FT" (W20-3) 48" X 48"  FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS WITH 48" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: 1 PER BOX MFG/Brand: EASTERN METAL Product No: Variances, if any: NONE	5 EACH	88.52	442.60
26	"DETOUR 500 FT" 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS WITH 48" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: Variances, if any:  NONE	5 EACH	88.52	442.60

#### **REQUEST FOR BID**

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Jennifer Gagnon

732-431-7370 x7372

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
27	"DETOUR 1000 FT" 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS WITH 48" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging:  MFG/Brand: Product No: SUPER BRIGHT Variances, if any: NONE	5 EACH	88.52	442.60
28	"DETOUR 1500 FT" 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS WITH 48" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging:  MFG/Brand: Product No: SUPER BRIGHT Variances, if any:  NONE	5 EACH	88.52	442.60
29	"DETOUR" (W20-3) 48" X 48" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS WITH VELCRO TO BE USED FOR LEFT/RIGHT AND STRAIGHT OVERLAY ARROWS, WITH 48" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: 1 PER BOX MFG/Brand: EASTERN METAL Product No: SUPER BRIGHT Variances, if any: NONF	10 EACH	88.52	885.20
30	OVERLAY ARROWS, 24" X 12" FLUORESCENT ORANGE SUPER BRIGHT PRODUCT # ORALITE BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging:  1 PER BOX MFG/Brand: EASTERN METAL Product No: Variances, if any: NONE	10 EACH	22.67	226.70
31	96 INCH STENCIL LETTER " Y" PRODUCT" 110A-FA BRAND: FORM FLEX OR APPROVED EQUIVALENT	1 ONLY	66.92	66.92

#### **REQUEST FOR BID**

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Jennifer Gagnon

732-431-7370 x7372

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 1 PER BOX MFG/Brand: AMERICAN STENCIL Product No: 110A-FA Variances, if any: NONE			
32	96 INCH STENCIL LETTER " I" PRODUCT" 110A-F BRAND: FORM FLEX OR APPROVED EQUIVALEN		66.92	66.92
	Packaging: MFG/Brand: Product No: Variances, if any:  1 PER BOX  AMERICAN STENCIL  110A-FA  NONE			<b>I</b>
33	96 INCH STENCIL LETTER " E" PRODUCT" 110A-F BRAND: FORM FLEX OR APPROVED EQUIVALEN		66.92	66.92
	Packaging:  MFG/Brand:  Product No:  Variances, if any:  1 PER BOX  AMERICAN STENCIL  110A-FA  NONE			
34	96 INCH STENCIL LETTER " L" PRODUCT" 110A-F BRAND: FORM FLEX OR APPROVED EQUIVALEN		66.92	66.92
	Packaging:  MFG/Brand:  Product No:  Variances, if any:  1 PER BOX  AMERICAN STENCIL  110A-FA  NONE			<u> </u>
35	96 INCH STENCIL LETTER " D" PRODUCT" 110A-I BRAND: FORM FLEX OR APPROVED EQUIVALEN		66.92	66.92
	Packaging: 1 PER BOX  MFG/Brand: AMERICAN STENCIL  Product No: 110A-FA  Variances, if any: NONE			
36	96 INCH STENCIL LETTER " H" PRODUCT" 110A-I BRAND: FORM FLEX OR APPROVED EQUIVALEN		66.92	66.92

#### RFB# F-57-2022

### **County of Monmouth**

#### **REQUEST FOR BID**

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Jennifer Gagnon

732-431-7370 x7372

# FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY( MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 1 PER BOX MFG/Brand: AMERICAN STENCIL Product No: 110A-FA Variances, if any: NONE			
37	96 INCH STENCIL LETTER " A" PRODUCT" 110A-FA BRAND: FORM FLEX OR APPROVED EQUIVALENT	1 ONLY	66.92	66.92
	Packaging: 1 PER BOX  MFG/Brand: AMERICAN STENCIL  Product No: 110A-FA  Variances, if any: NONF			
38	96 INCH STENCIL LETTER " S" PRODUCT" 110A-FA BRAND: FORM FLEX OR APPROVED EQUIVALENT	1 ONLY	66.92	66.92
	Packaging: 1 PER BOX  MFG/Brand: AMERICAN STENCIL  Product No: 110A-FA  Variances, if any: NONE			
39	96 INCH STENCIL LETTER " T" PRODUCT" 110A-FA BRAND: FORM FLEX OR APPROVED EQUIVALENT	1 ONLY	66.92	66.92
	Packaging: 1 PER BOX  MFG/Brand: AMERICAN STENCIL  Product No: 110A-FA  Variances, if any: NONE		<b></b>	
40	96 INCH STENCIL LETTER " P" PRODUCT" 110A-FA BRAND: FORM FLEX OR APPROVED EQUIVALENT	1 ONLY	66.92	66.92
	Packaging:  MFG/Brand:  Product No:  Variances, if any:  1 PER BOX  AMERICAN STENCIL  110A-FA  NONE			1

. IATOT

116,520.10